Y,

*/;0/54

Q,%

4’{;” 2

S
< § Y,
N
BEEFADD S TR OTEHK
™ $=1:250 X
BLABAsE L=45 0m
11.31
*i,;yﬂﬂ
111708
" 25 LBIKER L=3. 2m
B B AE A% (B) -
(400%1000) L=2. om (400%10005 40&;,? % EA
IS LEIKER L=13. 7m BB BEREEG) 221 2 kEk L=17. 4m | 1SLEKER =24, 3m 42 H);,@ﬁ(’"””"‘ 221 E K ~ 40041000)
A ) Sk o P N
SHRa 2y 2 CER PRI BT o ) — b L=17 ISBEID S5 Y — K L=24_3m B BYY L=10. om =3.p
- 3] — =24. & J—+ = .
X 2 (=] — =
L=13.7m 3. 2 Q 6m BEMIZD Ut 147 an 4 ISBAIa> Y Y— k L=0. 7m
ISHEHABR IO =68, d4n I , - =
’ o ISHHEEHR IO 1=48. 6m
X -
| 110.63 E) FNEBHEERFAOS IEHFHMISIHE 1%
110.52 |
11731 Q
5o 10775 X
T ) 1022 0 70%
22 iR ) DDA [
1,03t 1S HEIHE 50 ‘
111.50 1.0 35 IRER N
1.0= $
g e . H ‘ B I §
- PRI EE
; I ) Pl 12
s : - L=0. 9m
112,16 -0 =
143 Z [
T —s —— = . 109.93 .
112,86 1C.1 ‘3; A | T8 o [ = - — ’ ’ 110, a 109.90
ol Lo, 710,70 TI0.55 T T = 100,30
—== foss g N -110.34
Q_I— = e P
——> LD \ 40.0+10.00 _ N.1 .2 IP.1 1103 )?in z
G ~ Bl \E — = = Lo 111,07 0.5 Vs 6 \\
7 = Tww
— — — ks S 1 i
. — TS5 T . — — —— — — g
“fo 2% 1z 35?;52\'4—:'3‘2 nal — —— T === = o v — ] T =0
eF . , . i - T 9 ———— — -
’ 1’u 31 « ’ 111°97 tIZf“’Q"}“j ’ ‘FP[rrJﬁW . | Ty T jﬁ,, —— - et Yy,
| | M T | e S o | | |
’ ’ | I
’ A 1044 ’ ’ ’
. 110.20
11148 o 11040

4 i,

*J%,p

BI=111.413

*/_;ﬂ 0

B) ENBRMEERFADQSHEHFFRAMI4TIF2MSE

Al
[ empmxn
B 4 FR 5 IX
/) kiR
5 OE| TH &8 BitE
BlI8% BEEAD S EEEE
I%%
BB BEEBEAD AT
BE %
§ R| 1/250 /
WEERR | T &£ A B
N 412
7 $2E2|  BNEPHIASHR




